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1|z 2REE f(x) &M £(0) =3, f/(0)=—-2, fFB)=4%WMtTL7T5.

(1) f(x) %skeb k.
(2) ity = f(x) t:ﬁi(%, 0) MH QARDERE V=L ¥, TNEFNIZODWTHERO AR LUHAD

FEfE % kb &
(3) ity = f(x) BLU (2) TRO~ 2ADERTH EN/ A OHEBEZ KD L.
() f = ax®+bx +C (a%0) &<

fw=3&y, c=3 O

flo=20x+b ©&Y, floy=-2 &Y, b=-2 @

fm=44), 6a+b=4 @Y. a=|

LAk &), floy= x2-2x+3
/Z,

/

(2) 3848, % (t.t7-21+3) £#<¢L.
fly= 22-2 &1, #8213, Y=(2t-2)(x- 1) +t*-2t +3

Tohs, Y=2(r-1)x-t*+3 -0

i (2 g)eid@3zeay, 0=31-3-1'3

. t*-3t=0 ~t(t-3)=0 -~ T=0.,3

@1 ALT, $ERR 15401

1EAE: Y= -2x+3 §E5:(0,3) b 1ERR: Y=4A-6 & (3,6)

=4x~6
3)ma@ 5y, =4

3 3
S=f"x’—zx+3—(-21+3)dx +Y2 x*-2x+3-(4x-6) dx
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